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Use limits to compute the following derivatives.
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Technology Exercises

Examine the graph of the function and evaluate the function at large

values of = to guess the value of the limit,
o

Solutions to Check Your Understanding 1.4

1. The function under consideration is a rational function,
dinee the denominator has value 0 at ¢ = 0, we cannot

immediately determine the limit by Just evaluating the
tunction at z = 6. Also,

lim (2 = 6) = 0,

2 =ifl
Since the function in the denominator has the limit zero,
we cannot apply Limit Theorem VI, However, since the
definition of limit considers only values of 2 different
from 6, the quotient can be simplified by factoring and
canceling;
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1.5 Differentiability and Continuity

In thg preceding section, we defined
a limit. If this limit does not, exist,
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